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AMAE 22 EHHIZ2A 30,000
03 AlE 201 | 9,720 9,000 720
Oosti4+=2 slfst 2,700,000,000 0. 36% 9,720
SEIMAAIE 120,000 20,000 100,000
401 A& HIZ 2 0HY| 120,000 20,000 100,000
01 Al&H| 120,000 20,000 100,000
OSsSY A AS 20,000,000& = 14! 20,000
O Z2XF sYME (7,700,000 =132 X|) 100,000
AHALE B 150,000 100,000 50,000
401 AlEHIZL 2 0HY| 150,000 100,000 50,000
01 Al&H| 148,920 99, 100 49,820
O2d, A& B 150,000,000 x99 . 28% 148,920
03 A& 2 0HH]| 1,080 900 180
O, A& B 150,000,000 *0.72% 1,080
SUE AHHY 225,000 170,000 55,000
402 SI2vXH=20| ™ 225,000 170,000 55,000
01 It EANSE X (MM A) 225,000 170,000 55,000
OA8&HINY 1,500,000& *80= 120,000
O8I 3,500,000 *30= 105,000
MEB &S X 2l 8,900 8,633 267
101 e1214| 3,900 3,633 267
04 JI2tHIZ22XNSESE S 3,900 3,633 267
OMEHI2=2 SXlae o82(6,7,8,9€)
65,000 »60! 3,900
401 AlEHIZ 2 0HY| 5,000 5,000 0
01 Al& B 5,000 5,000 0
ONZTHIE=T AlE2 SA=2 5,000
AMs=X HYE =HEH| 50,000 50,000 0
401 Al HI L 204 HI 50,000 50,000 0]
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L= B
el
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SYMADIEEEY
=ClAIE & |2

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 A& HI 50,000 50,000 0
OM=X MY SAE=AE(E 23]) 50,000
SAZel =2lAld s X 2el 400,000 400,000 0
403 MtXISHHE X201 & 400,000 400,000 0
02 SN 2SOH S X HE AL B 400,000 400,000 0
OsZE3A7E =2lAlE |X &2/l 400,000
SAtZel Ol 2AlE 2= 400,000 400,000 0
403 XM S =0l A 400,000 400,000 0
02 SO 2SO HSHAHE X OH & At H 400,000 400,000 0
O3 A2el 0IZAIE B 400,000
I=X Ad B 100,000 100,000 0
TAZHIZXE0Y 100,000 100,000 0
01 A& HI 99,100 99,100 0
OM=Xl A& 22 100,000, 0002 *99. 1% 99,100
03 A& =TI 900 900 0
OM=Xl A& 22 100,000, 000& *0.9% 900
Kot ST A 100,000 100,000 0
401 AIEHI L 2] 100,000 100,000 0
01 A& HI 100,000 100,000 0
OXot= FEZAH25JH4) 100,000,000 « 14! 100,000
SHIIBEH (= LESTHHAIE ) (EX) 250,000 188,000 62,000
X 200,000
< 25,000
Al 25,000
T AEHZXEUY 250,000 188,000 62,000
Xl 200,000
< 25,000
Al 25,000
01 A& HI 248,200 186, 646 61,554
=0l LS THEH O BHXI & (O] B X2 )
250,000,000& *99.28% 248,200
Xl 200,000
= 25,000
Al 23,200
03 AIE 2 0HHI 1,800 1,354 446
Os=2 & =S THEH DI BHXI & (O B4 X2 ) 1,800
HEQIGM2Z 2 DEZANELEAINXNA(REHNR EE= 2,000,000 166,000 1,834,000
HZ A ) (E2X)
= 1,000,000
Al 1,000,000
403 Ut SHHS =0l & 2,000,000 166,000 1,834,000
= 1,000,000
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OFENH= 2= AL 2,000,000
= 1,000,000
Al 1,000,000
MaXl A L XA (EX) 470,000 0 470,000
=} 235,000
Al 235,000
401 Al HI L £ 0HHI 470,000 0 470,000
=} 235,000
Al 235,000
01 Al&H| 470,000 0 470,000
OM%=X HEAEA U KNH(ASH S 11HA) 470,000
= 235,000
Al 235,000
SEE MY 2,730,820 3,660,000 A 929,180
= 1,219,000
Xl 300,000
= 415,200
Al 796,620
St CHH] 22 E(EX) 226,250 396,000 A 169,750
= 181,000
Al 45,250
401 AlEHIZL 201 Y| 226,250 396,000 A 169,750
= 181,000
Al 45,250
01 Al&H| 224,621 393, 149 A 168,528
Oste i S AIY
226,250, 000& *99.28% 224,621
= 181,000
Al 43,621
03 Al 201 Y| 1,629 2,851 N 1,222
Oste i S AIY 1,629
I ZMEITRH(LUEX P NES BUAMWLAI)(BEX 428,570 0 428,570
)
Xl 300,000
Al 128,570
401 AlEHIZL 201 Y| 428,570 0 428,570
Xl 300,000
Al 128,570
01 Al&H| 428,570 0 428,570
OYE IR NESSB2AINLAS 428,570
N 300,000
Al 128,570
MoHAS N A A (MHHRAE MK BAAL)N(EX) 2,076,000 1,884,000 192,000
= 1,038,000
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SHl: s A B (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
401 AlEHIZL 2 0HY| 647,000 171,286 475,714
Xl 453,000
& 97,000
Al 97,000
01 Al&Hl 642,924 170,053 472,871
OJIAHSEEZ SHLEAY 642,924
N 453,000
= 97,000
Al 92,924
03 A2 0HH| 4,076 1,233 2,843
OJIHSHEEZ SILEAS 4,076
403 XX SHHS K201 & 900,000 685,714 214,286
N 630,000
== 135,000
Al 135,000
02 2| 2SOHSHA =X &AM HI 900,000 685,714 214,286
OJIAHSEEZ SLEAY 900,000
Xl 630,000
= 135,000
Al 135,000
AXAE L LI|EEHAIY 500,000 1,141,920 A 641,920
N 200,000
= 25,000
Al 275,000
=ADJ|BFAEH| (KAL) 250,000 0 250,000
401 AlEHIZL 2 0HY| 250,000 0 250,000
01 Al&H| 248,200 0 248,200
Ol 288 =HI|IBHEHI ALY
250,000, 000 «99. 28% 248,200
03 AlI&E 21| 1,800 0 1,800
Ol 288 =SI|BHEH ALY
250,000,000 *0.72% 1,800
SAHI|BHAH (DB AEBIAIY ) (EX) 250,000 0 250,000
Xl 200,000
= 25,000
Al 25,000
401 AlEHIZL £ 0HY| 250,000 0 250,000
Xl 200,000
= 25,000
Al 25,000
01 Al&H| 248,200 0 248,200
OgJ|etHHIAY 250,000, 000& *99.28% 248,200
N 200,000
= 25,000
Al 23,200
03 Al 201 Y| 1,800 0 1,800
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